dZO' / d ptbar{t} d |ytbar{t}| [pb /GeV]

Ratio to ATLAS

T

1073

[EEY

0.5

13000 GeV pp
I I I |

tt
:|_ T T T | T I I | I I —|:
= ptTtbar (ATLAS semileptonic ttbar) .
- m  ATLAS -
-~ —A— Pythia 6.428 370
--+%-- Pythia 6.428 378
== Pythia 6.428 379 3
a -
_| | | | | | | | | | | | | | | |_
= | 1 1 | ' ' ' | ' ' ' | ' I =
— /,‘V“--------—-———————————-————---—-_;;1 :
| 4/,«/ L |
n A/m —A 7
| 1 1 1 | 1 L L . L : l : I |
0 200 400 ngr{ 800
p"} [GeV], ly Y in[1.2,2.5]

|
Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


